GE 205: Dyvnamics

Midterm Exam

3/2/23

3/4/23

Open notes, open book, and calenlators allowed. Work neatly and clearly

mark vour answers. Partial credit may be given.

Name:

Question: 1 2 3 : Total l
Points: 10 20 30 10 100
Score:

1. (10 points) A 3500 1b ear decelerates from 60 mph to 45 mph in 8 seconds. Neglecting

friction, what is the average force applied by the brakes?
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pole at B, This tether is 2 m long and makes the angle shown with the vertical pole
Assuming a constant velocity, what is the magnitude of the velocity and acceleration of
the ball as it travels in a circular path around the pole?
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3. (30 points) Dr. Devine is sledding down a hill after

0 A\ o the Beare below

(a) What is the distance between points B and C?
h J (b) How long does it take for him to stop after he passes point 37
Wah+ Fit=TT D

I'he coefficient of friction between his sled and the snow is g

a snowstorm. He starts at rest at
He passes through point B and stops some distance later at C

0.1, and the total weight
of the sled and rider is 130 1hs
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V = [Swmph = Ll
4. (40 points) Wile E. Covote runs into a painting of a tunnel at 15 mph at a 30° angle as

shown below, After bouncing off of the painting with a coeflicient of restitution ¢ = 0.8

he slides along the ground with a coeflicient of friction of gy ~ 0.4, Where does he come
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